
ANSWER SHEET: You must fill in this sheet as you go. Take it to the 

organiser ONLY when ALL the answers have been completed. When time 

is up, hand it in anyway. ONLY what is on this sheet will score. 

 
School Name: ……………………………………………………………………………..……………… 
 

4-digit Passcode Institution Name 
  

  

  

  

  

  

 

Write out the decoded clues here in the correct order: 

1. 

2. 

3. 

4. 

5. 

6. 

 

Write the answer using the six letters here: 

  



CLUE SHEET 

Coded clue: GUR YBPHF 

 

The offset for decoding is the solution to this equation: 

7𝑥 − 15 = 11 + 5𝑥 

 

 

 

  

 

CLUE SHEET 

Coded clue: RI D SRLQW 

 

The offset for decoding is the solution to this equation: 

45−𝑥 = 16 

 

 

Message A B C D E F G H I J K L M 

Code              

Message N O P Q R S T U V W X Y Z 

Code              

Message A B C D E F G H I J K L M 

Code              

Message N O P Q R S T U V W X Y Z 

Code              

H 

E 



CLUE SHEET 

Coded clue: MYCQLQABIVB BW 

 

The offset for decoding is the solution to this equation: 

𝑥2 − 10𝑥 + 70 = 6(𝑥 + 1) 

 

 

 

  

 

CLUE SHEET 

Coded clue: K PSHON ZYSXD 

 

The offset for decoding is the solution to this equation: 

2700𝑥 − 4361 = 1700𝑥 + 5639 

 

 

Message A B C D E F G H I J K L M 

Code              

Message N O P Q R S T U V W X Y Z 

Code              

Message A B C D E F G H I J K L M 

Code              

Message N O P Q R S T U V W X Y Z 

Code              

E 

S 



CLUE SHEET 

Coded clue: ZE KYIVV 

 

The offset for decoding is the solution to this: 

𝑉 = 𝐼𝑅 if 𝑉 = 323 and 𝐼 = 19 use 𝑅 

 

 

 

  

 

CLUE SHEET 

Coded clue: ZEIAJOEKJWH OLWYA 

 

The offset for decoding is the solution to this equation: 

4(𝑥 − 8) = 7(𝑥 − 14) 

 

Message A B C D E F G H I J K L M 

Code              

Message N O P Q R S T U V W X Y Z 

Code              

Message A B C D E F G H I J K L M 

Code              

Message N O P Q R S T U V W X Y Z 

Code              

R 

P 



                       

 

                              

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



12𝑥 + 17 = 4𝑥 + 89 𝑥2 − 104 = −100 2𝑥+1 = 64 139 = 138𝑥 + 139 
 
 
 
𝑥 + 1 = 4130 6𝑥 − 36 = 2𝑥 − 4 𝑥2 − 12 = 37 117𝑥 − 209 = 59𝑥 − 209 
 
 
 
10𝑥 + 2 = 𝑥2 − 4𝑥 + 51 88𝑥 − 19 = 27𝑥 + 42 6𝑥 − 17 = 31 3𝑥−4 = 81 
 
 
 
23𝑥 + 19 = 15𝑥 + 67 𝑥2 + 2014 = 2015 5𝑥+1 = 125 345 = 18𝑥 + 255 
 
 
 
𝑥 = 40190 11𝑥 − 23 = 6𝑥 + 22 117𝑥 − 105 = 115𝑥 − 87 𝑥2 − 12 = 4 
 
 
 
15𝑥 + 8 = 7𝑥 + 64 (𝑥 − 8)2 + 31 = 31 6𝑥−2 = 36 14𝑥 − 9 = 5𝑥 + 18 
 



 YOU MUST READ THIS! 

 

• You must collect 6 different strips, each with 4 equations. 

• If you have any swaps at or on your table you will get a 

penalty deducted for each one. 

• Each strip identifies one institution. 

• Send your runner with the number and institution 

written down to show at that institution. 

• If you are correct then the staff at that institution will give 

you a clue sheet. (A penalty if you are wrong!) 

• The clue sheets need decoding to give parts of one big 

clue. 

• Solve it and take your COMPLETE answer sheet to the 

organiser.  


